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Use chart above for #8 (Show the work that leads to your answers)

8a) Find f'(8)= b) Find £'(36)=

c) Find f’(44)= d) Find f’(24)=

Evaluate #9-10

J - 2+h) =1
9) fim VXN _ 10) Tim BFHA) Z16
h—0 h h—0 h

Use picture below for #11
1la) Find f'(1)= b) Find f’(3)= c) Find f’(4)=

d) Find f’(6)= e) Find f/(7.5)= f) Equation of tangent line at 4
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CH.2 HW Derivative Practice

        

Name
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Find each derivative










Find each derivative
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Find #’(x).

D h(x)=£()-g(x) 2 hix)= £ 3 h(x)=(s(x))
f(x)
4) h(x)zf(9x) 5) h(x)zg(xz) 6) h(x)zf(g(x))
f@)=4 f'@)=-8 fa)=-2 F@)=1
g(2)=2 g(2)=6 g(4)=3 g (4)=-5
7) Use information above to find 4’(x) and h’(2). Write equation of the tangent line at 2.
f(2x)

a) h(x):m b) h(x)=g(f(x))
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(2). Write equation of the tangent line at 2.
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